
GROUND LEVEL

PLAYING SURFACE
2 x CASTOR
75 MM DIA.

2 x CASTOR
75 MM DIA.

SUPPORT BAR

POST CAP (WITH WHEEL)
(TIW75 POST FITTING)

INTERNAL MECHANISM
(TIW75 POST FITTING)

NAME PLATE
(TIW75 POST
FITTING)

WINDER
HANDLE
(TIW75 POST
FITTING)

WINDER POST

2X M12 X 90 MM GAL
BOLT, DOUBLE FLAT
WASHER & NYLOC NUT

NON WINDER POST

 4X M10 X 100 MM
BOLT, DOUBLE
FLAT WASHER,

S/WASHER & NUT

2X M12 X 90 MM GAL
BOLT, DOUBLE FLAT

WASHER & NYLOC
NUT

PBI-F
FREESTANDING PICKLEBALL

NET POSTS

POST CAP
(TIW75 POST FITTING)

90
7

6710

DRAWING NUMBER:

WEIGHT:

TITLE:

COMPONENTS

QTY ITEM

PBI-F  ASSEMBLY

CUBIC MEASURE

ASSEMBLY INSTRUCTIONS

PBI-F
FREE STANDING PICKLEBALL

- -

1 NON WINDER POST WITH CASTORS

1 SUPPORT BAR

1 WINDER POST WITH CASTORS

8 M10 X 100 S/S HEX BOLT, DOUBLE
WASHER, S/WASHER & NUT

Oz Ring Pty Ltd
Trading as:

Play Hard Sports Equipment
ABN 79 066 094 559
24 Ern Harley Drive

Burleigh Heads Qld 4220
Phone: (07) 5593 4494

Fax: (07) 5593 4338
Website: www.playhardsports.com.au
Email: email@playhardsports.com.au

sports equipment

SET OF TIW75 POST FITTINGS

4 M12 X 90 MM GAL HEX HEAD BOLT
DOUBLE FLAT WASHER & NYLOC NUT

1

2 MZHT7532-BPB WHEEL AND CASTOR
WITH BRAKE (75 MM DIA. WHEEL, 108
MM HEIGHT, BLUE RUBBER)

2 MZH7532-BPB WHEEL AND CASTOR
(75 MM DIA. WHEEL, 108 MM HEIGHT,
BLUE RUBBER)

ASSEMBLY INSTRUCTIONS:
1. The castor wheels are supplied preattached to the posts and the internal

winder fittings are also pre-attached to the winder post.
2. Attach the support bar to the posts using the M10 x 100 mm S/S hex head

bolts, double flat washer, spring washer and nut.
3. Feed the swaged end of the cable through the non winder post cap and

onto the internal post hook.
4. Feed the non-swaged cable end through the winder post cap and into the

hole int the drum gear (no need to cut the excess cable off).
5. Tension the cable by hand pulling so there is minimum cable to wind

around the drum.
6. Turn the handle to take up the cable tension. The drum will only need a

few revolutions to tension the cable.


	Sheets and Views
	Assembly


